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Shape times Shape

Problem

Solutions
0= triangle

1= kite

2= purple square
3= rectangle

4= oval

5= star

6= green triangle
7= none

8= half circle

9= green star

Each of the shapes represent a
number between 0-12.There are

11 numbers represented. Can you
figure them out?
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Julia April 30th 2019 Nr7
Working Out

1. The red triangle had to be 0 because
anything multplied by 0 equals 0. The yellow kite is
1 because anything multiplied by 1 is that number.

2. Looking at the first equation, | knew that
because the numbers had to be in between 0-12,
and because it was being multiplied so many times,
that it had to be a little number. 2 was the only
number that worked and it equaled 8.

3. (look at second equation) 2X2=4. Now, this
needs to be a number that when multiplied with 2
won't give more than 12 and isn't 2 or 1... 3! (equals
12)

4.3times 21is 6, 6 times 21s 12

5.3times 3is 9
6. Anything multiplied by 2 must be even, so |

look at the numbers that are left. | see we can use
10, and 2 times 5 is 10!
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